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Stein's lemma ( baby version )
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, y c- (0,1/2)
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Pf sketch for baby version where w=(1
, . .. ,

1)
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i.e.IT f- is Majority (× , . . . . ,✗n ) :

Can view f- (x) for ✗- { -11 }
"

as random walk :

f-1×1

a war .
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sort of

Cannvien fly) as continuation of this random walk

for = yn steps
,
where each step we Move by

2 instead of 1 ( b/c we are flipping coordinates from

-21 to 1=1 ) . So
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in order for f- (y) -1-1-1×1 , displacement must
exceed

rn . But
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For certain h , can do much better
, e.g .
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intersections of halfspaces can be learned in time
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Stein 's lemma ( baby version) :

Let f :R→R be sufficiently
"

regular ! Then for
✗ nN(o , 1) ,
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